OST.PLOCHY
POLNA

JIHLAVA
VYSOCINA

DRUH POVRCHU GZEMI
KATASTRALNI UZEMI

OKRES:
KRAJ:

84¢0
720

13avy T30S
13avy T30S

M
WX
62¢°0

Q0AOQOA M

QOAOQOA 81E°0 WX

R=500.00
T=16.642
0277

Y

NN T738vX L6Z°0 WX

GOAONATd LS 8820 WA

JOVZIYNYY 182°0 WA

738vM T30S 6GZ°0 WA

8vZ0

o
0¥Z'0

138vM T30S

QJOAONATd IS
QJOAOQOA

M

M
WM

8120
¢Lzo
oLzo
80Z°0

138avy "T3as
138vM "T3as
JOVZITYNVM

QJOAONATd LS

WM
M
M

M

NN 73gvX L6L°0 WM

JOVZIIYNYY +91°0 WM

GGlo
0510

QJOAOQOA
JOAOQOA

WM
WM

QOAOQOA OYL‘0 WX

738VM T30S LTL0 WA

JOVZIYNYY +0L°0 WM

G600
£60°0

JOVZITYNYA
138vM T3dS

WM
WM

o
o
1
By
o
o
o
1
—
138vMa 1330S 000 WM “—
T38vM "130dS 200°0 WM [TH
oz
o.
\ D=
pd
-
“LLI
0
o.

s [®
o S
@ - = I - ?
H SRE : 9
1 z = £ o
= w S
z ol < |5 |2 i
5 5l <S03
pe ©O|X[>|N
LRy | 8
3 =
< - ; . S
D < s[@|G|o ¢ 8
Z =(5a||lw E -
JEHENE g -
L|o|lo|N|a s -
»
< s5 S 15 BN
2353 ﬂ/ =z
=8
vC - N N IA
O g9 T —
>
> 82 nd ©
V N A st
- <5 =
< 52 > ke
o xR z : =
e N z| =z 5 - ©
NS <| < <C v% U
| |
= = af v V
olg |u]z .
S x| x> '
3 S EREIE =
= S E Z &
= % o
wn [ — [
y )
S| slE o o
S5 AR a= >
= > | X <
x 2 2e | — c
*, O | A —
5 A A= RS N ‘Q
m olaiozolxls 00 Nol
[ | < Z || ol |l o]l o o] x <t
z a3 % =]l < z O
o <3| o 2| £l o] > ™ <
o i wif w ~~
Q olw olxz|olz]l< — Q
[e) o || SI N> <l Z] 2 — o
8¥¢/IIIDINTIS VN AFNZVAVN 6687€°0 WX = N S R .
N S668YE'0 ﬁ \N, — — 66'8¥€
¥ OI5 -
a(u M f 1526Y — 6v'26h ——]  000%
S .
@ gesleen
N ™ — o
N S
v o
(o)) ! o]
N ) i ) 0
: 5680260 X 9,26 — 08'26v —— 0002 m
6 ﬂ - -
©
N\ ¥G2r0E0 \ €026y — G2y — & .
B\ o o lE662
G\ - =
A S 9v'262
©, 80¥062'0 - &
\D,
ﬁmw Ex =] 6816 — 0F'I6F ——] 0008
SR 000GZ20 \
o NN < . N <
S o W 2v9692'0 R\ 0
(o> BNV O
I v__| < A_“.
X — 9106y — 2206k —— 0009 a
|_18'sye
£o'gsy — 85'88y —  00'0%
o
[
o
o
<
I
(274
€898y — /898y ——] o002 020
. . N
ooooom.o/ — E1S8Y — B6VBY —0 o
15
2162610 N
[a
o \\
S R w7 y9'e8y — c9'e8y— 0008
S & 9169210 N .
= 15 5 ___ — 08'v/1
[ o\
X — @
— [~
0260970 \ goesy — s8resy——{ 0009
% Y
8628y — 9re8y——  00'0% >
k F
1 o
o
5
i
8828y — G628y — 0002 2
ff L se0t
—
—
00070T°0 8/'287 — E£G'28Y —« O
"
3|2 89287 — 9¥'28y — 0008
&
2 in
/_m =)
- N
[a
8s'28y — G228y —— 0009
>
Q.
[aa]
v 3
8’28y — 9¢ mw¢J1aI 00'0% | cove
>
n
>N
> o
o S
X =)
8E'287 — vE'28Y —M— 0002 Q
> &
o 66’
N
[oN]
° < (o))
— bl ’ ' 0. =]
0000000 - BecBy— 6cely oS T
_AM LSE/INDINTIS YN IrNZVYAVN 000000 WY = NZ o
Z
< = < .
< it s z
o = &
a Ll W — o
1 ﬂ E._ Q .. o
% 5 = B $z ¢
> z “ - S
X 3 - x 5z 5
Z < O Ye) ¥ = =
%) X X (2] [0p] wn




